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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1)  wdignefi FEwem S TE-u @ A stEda: o |

Candidate must write first his / her Roll No. on the question pape
compulsorily.

2) W a R Rar ¢ |

All the questions are compulsory.
3) e TR I 4 7 Ty A @ o |

Write the answer to each question in the given answer-book onl:
4) fom e # ameaieE TUE E, T wedt ¥ TG @ o |

For questions having more than one part, the answers to those par
are to be written together in continuity.
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) U & R @ siioh wavm & R e @ AR / I/ iﬁ“h
TR TR W@ L
If there s any error / difference / contradiction in Hmfi' & Eng]ish
versi : ion of Hindi version shoy|q
'S1on of the question paper, the question be
treated valig
6) T W I Rret A g wew w1 i owava Bl | .
Write down the serial number of the question before attempting j
g - A
SECTION - A
1) =glresd g - (16 x V3= 3)
Multiple Choice Questions -
) EUw mﬁm@m%w%mwaﬁm%?ﬁﬁmmwm
AT 27 )
(31) wrem Ffe @) mmakR
(|) smaw 3f @) mIR
When an operator is supplied with a value of incorrect data type then which
exception is raised?
(A) Type Error (B) Value Error
(C) Import Error (D) Name Error
i) P d @ S siafife smag 3 v
(37) TmFR (3) ¥ v g
(m) IR @) I asp
Which of the following is a built-in exception?
Name Error e
(A) Nam (B) %ero Division Error
(C) 10 Error ~O) All of thege
SS—03—Comp-Sci. (Opt.) (003 |

https://www.rajasthanboard.com



3
i) ... T STt it Y AT e O fver) ¥ fro frm i 2 | k2

(3%) Load () (@) Dump ()
(/) Seek () (3) Tell()
method is used to write the objects in a binary file.
(A) Load () . (B) Dump ()
(C) Seek () (D) Tell()
iv) RedmdEds....... ST T T HA R | [l
() ®R -\ wE - amEe (q) T - [ R - AR
(q) R -\ - e (3) Iuem @ g T
Stack is a mechanism that implements arrangement.
(A) First - In First - Qut (B) Last - In Last - Qut
(C) Last - In First - Out (D) None of these
v) ufed 6t geand iR sa R Sm s F o AR T ITEm fR
AR | /]

(%) Front (W) 3 Rear (R3X)  (I) Rear (R3R) 3ik Tail ()
(®) Top (2f) 3R Bottom (aew) (3) Bottom (afew) 3k Top ()

are used to indicate beginning and end of queue.

and
(A) Front and Rear (B) Rearand Tail
(C) Top and Bottom (D) Bottom and Top
vi) @ oft gonifign vl i o9 7 @, Swh e it | VA

(31) n @ n’
@ 1 (@) ntl
Any algorithm that does not have any loop will have time complexityas
(A) n B)
O 1 (D) n+1
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3 ST
VID)  ceeeeneenens @A U TG ) o &
(a7) Yo @ @ i ad
(@) o anurRd e8] 1 divides .t in the middle
search takes 2 ordered list a(B) s <carch
(A) Linear Search ' 1l ofthese
(C) Hash Based Search D) "
viit) fag g W A Leeneee Fgeran ¢ |
(31) T (@) e
(|) WA ' (g) wH® ferere
The average of given values is called __——
(A) Mode (B) Median
(C) Mean D) Standard deviation
IX)  eeeveeeees Wﬁéﬂ@!ﬁﬁ%%ﬁﬁﬁﬂ(ﬂﬁ)il %)
(31) WA (@) SQL
(@) e feed (7) WEAQ N
is a container to store data in a computer.
(A) Router (B) SQL
(C) Filesystem (D) Primary Key
X) ﬁﬂﬁﬂaﬁmMySQLmiawmz? ¢
(1) CHAR (n) @) INT
(@) FLOAT (@) v ad
Which of the following is data type in MySQL?
(A) CHAR (n) ®) INT
(C) FLOAT O Allofthess
SS—Os—Comp.Sci. (Opt.) 5003
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xi) Fad A S Yead = www 22
[V2]

(3) | (LAN) (@) W (MAN)
(|/) & (WAN) (3) I w

Which of the following is a type of Network?

(A) LAN B) MAN
(€) WAN (D) Allof these
) ;T“’ﬁ"ﬁ@ﬁ“ﬂ”mﬁmmﬁ%mmﬁmaﬁmmm
' [Vl
(1) HTTP (@) FTP
(@) SMTP (g) PPP
Which protocol is used to transfer files from one machine to another?
(A) HTTP - (B) FTP
(C) SMTP (D) PPP
i) v @ v T AR ]
(37) TR (@ T
(@) TR (7) T
Which of the following is @ Malware?
A) Virus (B) Trojan
®) Spyware _ Dy All of these
(Turn Over
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XV) 5t 3 R aren aved g i 22

XV)
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(3) RaRziow (wafiagm) daw (@) w-vwor (Fe) Fae
(W) s wrw (3) Inaw wl

Which of the following is a wired transmission media?

(A) Twisted Pair cable (B) Co-axial cable
(C) Optical Fibre (D) Allofthese

e 3 A e T Ay v 27

(31) LENGTH (String) () DATE ()

() YEAR (date) () POWER (x, y)
Which of the following is a Maths Function?

(A) LENGTH (String) (B) DATE ()

(C) YEAR (date) (D) POWER (x, y)
A G E R R?

() 3TN Oie W () Feve wetwiw wgm
(|) 3T T @E @) B o
What is IP address?

(A) Internet Power Address u(‘B)’"'Intemet Protocol Address

(C) Industry Power Address (D) Industry Protocol Address

https://www.rajasthanboard.com
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3) frn vt & qfd Bt - (10 x ¥z = 3]
Fill in the blanks -
) uwmmwrRfRemdgRAw... HoaTE Y I en 2 1 [V2)
exception is raised when there is an error in the syntax of the
Python Code.
iy mMWAiGwEEAEE fn . eI W TG FA R | [V2]
To open a file in Python function is used.
i) RDBMS ® Q@AM .....ccovnnnnnn. 2 [V2)
Full Name of RDBMS is
iv) %m%aﬁmnaﬂzzﬁmmﬂ%ﬁamaim...m....mm%l [V2]
_____isthe difference between maximum and minimum values of data.
V) e IR 2 g stfotem F N Re Wik am g [V2)
and are two basic operations performed on a stack.
vi) LIFO®QUam ............. 21 https://www.rajasthanboard.com [V2)
Full Name of LIFO is
VD) e v @R f¥arga 1 R ¢ | [v2)
____ _isan example of storage device.
vili) 1 Kb# .ovovveniennenn frea g d | [v]
There are bits in 1kb.
X) <r> WEAB o nr i e g | (V2]
<r >, opens the file in mode
X)  WWW S QA oo 2 (V)
Full Name of WWW is
*-03-Comp.Sci. (Opt.) 5003 [ Turn Over
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Very short answer type questions -

) INEE w g 32 (1)
What is Exception?
)  orwang weE @ A 27 (1]

What is Catching an exception?

iif) 2T wgA TN AN 7 [1]
What is Text file?

iv) WEFname [1]
What is Stack?

v) Fedi 2 oz (Sen) Rt & m forfem | [

Write name of any two Sorting methods.

vi) wea e (1
What is Mean?
vi)) SQL # i 2 3¢ v & 7w fafm | [

Write any two Date functions in SQL.

vii) faredi @ Feadh Suawit & m faf | (1

Write names of any two Network devices?

§S-03—Comp-.Sc¢i- (Opt.) 5003
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Uy - w
SECTION - B

Hgmmm-

Short answer type questions -
) v R Close () Rfy & =t § fufao |
Write about Close ( } method in Python.

What do you understand by binary files?

5) ufem & =g fim Jumin el |

Write any three uses of queue.

R bk R
What is Foreign Key?

) TEmF A AR

Write about Virus.

) TEA T FmgA e
What is Bubble Sort?

)) SQL # CREATE TABLE ®Rede =t s7am fftm |
Write use of CREATE TABLE statement in SQL.

) MySQL % % st 7 i vharym & a1 forfRarg |
Write about any three string functions of MySQL.

HTTP & amt ¥ frRarg |
Write about HTTP.

i Sy w g f |

What is Infix Notation?

5003
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14) ®=R Jzak iaeh s 22

What 1s Star Network Topology?

15) $qy (DEQUE) wm #2

What is DEQUE?

wug - |
SECTION - C

rdawia e -

Long answer type questions -

16) éﬂ:ﬂ!%ﬂaﬁmﬁawaﬁuﬁrﬁmmaﬁaaﬂhﬁml
on the stack with example.

Explain two fundamental operations performed
sa/OR

(P + Q) * (R — Z) = ureefrea ARv & we |
Convert (P + Q) * (R — Z) into postfix Notation.

17) mﬁmmwmﬁ?mml

18)

s503-Comp-Sei- (OPt)

What is time complexity of an algorithm? Explain.
Fya/OR

ﬁﬁaﬂ:{ﬂﬂ)ﬁﬁ&ﬂ!éﬂh(ﬁﬂﬂ)ﬂﬁﬁdﬂt%ﬁiﬂ

Write differences between Selection Sort and Insertion Sort.

freferRea F1 Fuia Hifre -
) dfeeg (ENQUEUE)
if) fdfya (DEQUEUE)

Explain followings -
i) ENQUEUE
i) DEQUEUE

aFEr/OR
tﬁ\ua(FlFO)dﬁamaﬁaﬁ:&m%?aﬂhﬁrﬁm

How does FIFO describe queue? Explain.

5003
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‘uu;__‘

"——_._-\
%
Wm- D

fssay type questions -

19)32'%“*’5‘5'3?-!%@@“

Write limitations of afi

Forf |

le system in Databgge [4]
e sfet Bifvrg - STIOR
) EE R o Wiy [2+2=4]
) TEee ik zow

Differentiate following -

1) Primary Key and Foreign Key
)  Attribute and Tuple

0) Freaferfiaa et 3 & Foh e 20 = @i w3 o e Tt 1w - i R |
[15, 4,27, 20, 31, 9] (4]

Write step by step process of linear searching to find key 20 from the following list -

(15,4, 27, 20, 31, 9]
arqar/OR

R oi Ryanemd @i S wea s AR

; i le.
Differentiate Linear and Binary gsearch with examp
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